o
=
(00]

Mudtiplicity
= ;
=
o

0.014

0.012

0.01

0.008

0.006

0.004

0.002

Ratio to DELPHI

0.5

91 GeV ee y*/Z (Hadronic)
— | : | : | : | : | : | : | : | : | — 1
B =(1530) multiplicity (detp-=St0) 7]
| m  DELPHI ]
~  --83-- Herwig 7.1.4 default 7
| —&— Pythia 8.301 default _
- ¢ Sherpa 2.2.8 default 7]
| —¥-- Vincia 1.0.28 _8.165 default |
1o O emmene e ’
- u _]
B " a
_E._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._.‘._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._.E_
_I | | | | | | | | I_
— ' ' =
e —— T 3
B . _
_'._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._..'.._.,T..'.T..'.T..'.T..'.T..'.T..'.T..'.T..'.T..'.T..'.T..'.T..'.T..'.T..'.T..'.T..'.T..'.T..'.T.'_

Rivet 3.1.0, = 7.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


